2103 BRICKHOUSE ROAD, DUNKIRK, ND 20754 USA
1.800.368.2573 (USA + CANADA)

T 301,855.8300 | F 410.257.7579
VICTORSTANLEY. COM

VICTOR m STANLEY®

Create a timeless moment.® % ALL DINENSIONS ARE IN INCHES *

TBLE T0P HEX HEAD BOLT HEX HEAD BOLT
(3" VERSION SHOM) HARDIARE CONFIGURATION 4" HARDIARE CONFIGURATION 8"
HEX HEAD HEX HEAD
BOLT BOLT
WASHER
LOCKIASHER
CENTER POST
ﬂ T
IASHER
08 LOCKIASHER
<A T
SURFACE I0UNT :
<o
IN-GROUAD NOUNT
SEAT TOP SEAT POST SEAT PLATE
(3" VERSION SHOIN) (3" VERSION SHOMN) (FOR CRPR-3 OILY)
QUANTITIES
FAROIARE FARDIARE
MODEL TABLE TOP CENTER POST SEAT TOP SEAT POST T O O
(RPR-2 1 1 2 2 0 12 2
(RPR-3 1 1 3 3 1 16 '
(RPh-4 1 1 ! ' 0 2 '

/ (RPR2,3 4

U STERLSITES™

COPYRIGHT 2023 VICTOR STANLEY, LLC. ALL RIGHTS RESERVED

ALL STEEL CENTER-POST TABLE

SHONN: GENERAL ASSEMBLY INSTRUCTIONS

PAGE 1 OF 6

REV. 5/2/23 DRAWN V.F.T. 2023-262



VICTOR m STANLEY®

2103 BRICKHOUSE ROAD, DUNKIRK, ND 20754 USA
1.800.368.2573 (USA + CANADA)

T 301,855.8300 | F 410.257.7579
VICTORSTANLEY. COM

Create a timeless moment.® % ALL DINENSIONS ARE IN INCHES *

1 - RENOVE ALL PARTS FROM THEIR BOXES AND BAGS. PLACE ON TOWELS OR A SOFT SURFAGE TO PREVENT SCRATCHING THE FINISH.

2 - SURFACE OUNT: PLACE TABLE TOP ON TOP OF CENTER POST AND LINE UP HOLES.

IN-GROUND NOUNT: PLACE TABLE TOP ON A FLAT SURFACE WITH TOP SIDE FACING THE GROUND. INSERT THE CENTER POST AND é/?

LINE UP HOLES.

SURFACE HOUNT
CENTER POST

THESE HOLES ARE NOT
PRESENT ON THE CP-2

IN-GROUND HOUNT
CENTER POST \‘

THESE HOLES ARE NOT
PRESENT ON THE CP-2 N

TABLE TOP

3 - INSERT HEX HEAD BOLT HARDWARE CONFIGURATION A" THROUGH HOLES AS SHONN. HAND TIGHTEN. DO NOT TIGHTEN FULLY UNTIL ALL BOLTS ARE IN PLACE.

4 - ONCE ALL BOLTS ARE IN PLACE, USE LEVEL TO CHECK ALIGNMENT OF TABLE TOP. AFTER TABLE TOP IS PROPERLY SPACED AND ALIGNED, TOOL TIGHTEN ALL BOLTS USING A 3/4" SOCKET

WRENCH OR 3/4" STANDARD WRENCH. TIGHTEN ALL BOLTS UNTIL LOCK WASHERS CONPRESS, AS SHOWN.

~ (RPR2,3 4
STEELSITES™ ALL STEEL CENTER-POST TABLE
SHONN: GENERAL ASSEMBLY INSTRUCTIONS

COPYRIGHT 2023 VICTOR STANLEY, LLC. ALL RIGHTS RESERVED

HARDWARE CONFIGURATION "A"
BEFORE TOOL TIGHTENING

HARDWARE CONFIGURATION A"

DO NOT OVER TIGHTEN AFTER TOOL TIGHTENING

PAGE 2 OF 6

REV. 5/2/23 DRAWN V.F.T. 2023-262




2103 BRICKHOUSE ROAD, DUNKIRK, ND 20754 USA
1.800.368.2573 (USA + CANADA)
VICTOR m STANLEY® T 301,855.8300 | F 410.257.7579

i VICTORSTANLEY , COM
Create a timeless moment.® % ALL DINENSIONS ARE IN INCHES *

5 - SURFACE NOUNT: SKIP TO STEP 6.

IN-GROUND MOUNT: PLACE TABLE IN FOOTING HOLE. TO PROTECT THE FINISH, BE SURE TO NOT DRAG PRODUCT ON THE GROUND. USING PROPS (NOT PROVIDED BY VICTOR STANLEY, LLC.)
POSITION THE ASSENBLY S0 THAT IT REMAINS LEVEL. RECOMNENDED HEIGHT IS SHOMN BELOW.

LA A A A AR
RECOMENDED &= = | RECOMMENDED
NOTE: USE LEVEL TO MAKE SURE CLEARMNCE = TABLE HEIGHT
TABLE IS HORTZONTAL IN FOOTING.
SUSPEND AT APPROPRIATE HEIGHT, CONCRETE FOOTING
TAKING CARE NOT TO DAMAGE OR ACCORDING 10 LOGAL |
SCRAPE THE COATED STEEL SURFACES. SOLL CONDITIONS | |

DO NOT PROGEED TO STEP 6 UNTIL CONGRETE HAS CURED AND PROPS ARE REMOVED.

6 - ATTACH (2) SEAT POSTS TO CENTER POST USING HEX HEAD BOLT HARDWARE CONFIGURATION "B". BE SURE BOTH HOLES ON THE SEAT POST HOUNT PLATE ALIGN WITH BOTH HOLES ON THE
CENTER POST. HOLES ARE OFFSET TO ALLOW CLEARANCE FOR BOLTS IN BOTH DIRECTIONS. DO NOT TIGHTEN FULLY UNTIL ALL BOLTS ARE IN PLACE.

“Ooe

SEAT POST

DO NOT FULLY TIGHTEN

/  CRPR,3,4
STEELSITES™ ALL STEEL CENTER-POST TABLE
SHONN: GENERAL ASSEMBLY INSTRUCTIONS

COPYRIGHT 2023 VICTOR STANLEY, LLC. ALL RIGHTS RESERVED

PAGE 3 OF 6

REV. 5/2/23 DRAWN V.F.T. 2023-262




2103 BRICKHOUSE ROAD, DUNKIRK, ND 20754 USA
1.800.368.2573 (USA + CANADA)

VICTOR m STANLEY® T 301,855.8300 | F 410.257.7579
VICTORSTANLEY. COM

Create a timeless moment.® % ALL DINENSIONS ARE IN INCHES *

7 - FOR CRPR-2: SKIP TO STEP 8.
FOR CRPR-3: REPEAT STEP 6 TO ATTACH THE REMAINING SEAT POST AND SEAT PLATE.
FOR CRPR-4: REPEAT STEP 6 TO ATTACH THE RENAINING (2) SEAT POSTS.

SEAT POST

v,
&\

R

=27\

/ 7
«

/i / 2\ ¢

SEAT PLATE

SEAT POST

DO NOT FULLY TIGHTEN

8 - ONCE ALL BOLTS ARE IN PLACE, USE LEVEL TO CHECK ALIGNMENT OF SEAT POSTS. AFTER ALL COMPONENTS ARE PROPERLY SPACED AND ALIGNED, TOOL TIGHTEN ALL BOLTS USING A
3/4" SOCKET WRENCH OR 3/4" STANDARD WRENCH. TIGHTEN ALL BOLTS UNTIL LOCK WASHERS COMPRESS, AS SHOMN.

HARDWARE: CONFIGURATION 'B* . S HARDWARE: CONFIGURATION "B*
BEFORE TOOL TIGHTENING " " AFTER TOOL TIGHTENING DO NOT OVER TIGHTEN

9 - PLACE SEAT TOP ONTO SEAT POST AND LINE UP HOLES.

. i
) H H T
1
7~ (RPR, 3,4
STRELSITES™ ALL STEEL CENTER-POST TABLE
SHOWN: GENERAL ASSEMBLY INSTRUCTIONS
COPYRIGHT 2023 VICTOR STANLEY, LLC. ALL RIGHTS RESERVED PAGE 4 OF 6

REV. 5/2/23 DRAWN V.F.T. 2023-262




2103 BRICKHOUSE ROAD, DUNKIRK, WD 20754 USA
® 1.600.368.2573 (USA + CANADA)
VICTOR m STANLEY T 301,855.8300 | F 410.257.7579
i VICTORSTANLEY , COM
Create a timeless moment.® % ALL DINENSIONS ARE IN INCHES *

10 - INSERT HEX HEAD BOLT HARDWARE CONFIGURATION ‘A" THROUGH HOLES AS SHOWN. HAND TIGHTEN. DO NOT TIGHTEN FULLY UNTIL ALL BOLTS ARE IN PLACE.

11 - REPEAT STEPS 9 AND 10 FOR EACH ADDITIONAL SEAT.

12 - ONCE ALL BOLTS ARE IN PLACE, USE LEVEL TO CHECK ALIGNNENT OF SEAT TOPS. AFTER ALL CONPONENTS ARE PROPERLY SPACED AND ALIGNED, TOOL TIGHTEN ALL BOLTS USING A
3/4" SOCKET WRENCH OR 3/4" STANDARD WRENCH. TIGHTEN ALL BOLTS UNTIL LOCK WASHERS COMPRESS, AS SHOMN.

HARDWARE: CONFIGURATION ‘A* ™ . HARDWARE CONFIGURATION "A"
BEFORE TOOL TIGHTENING " " AFTER TOOL TIGHTENING DO NOT OVER TIGHTEN

SURFAGE MOUNT: PROCEED TO STEP 13, IN-GROUND MOUNT: INSTALLATION IS COMPLETE.

13 - SURFACE WOUNT: THE TABLE CAN NOW BE SECURED IN PLACE. CHECK AND REVIEW LOCATION AND POSITIONING. MAKE ANY ADJUSTHENTS TO PLACEMENT/LOCATION NOW. MARK LOCATION OF
ANCHOR BOLT HOLES. RENOVE TABLE AND PLACE ANCHOR BOLTS IN POSTION.

(4) ANCHOR BOLTS HOLES ARE USED ON THIS PRODUCT WITH CLEARANCE FOR UP TO 1/2" ANCHOR BOLTS.
ANCHOR BOLTS ARE NOT SUPPLIED BY VICTOR STANLEY, LLC.
CONSULT YOUR LOCAL CODES FOR REGULATIONS.

14 - ONCE ANCHOR BOLTS ARE IN PLACE, REPLACE TABLE IN POSITION AND TOOL TIGHTEN ANCHOR BOLTS.

~ (RPR2,3 4
STEELSITES™ ALL STEEL CENTER-POST TABLE
SHONN: GENERAL ASSEMBLY INSTRUCTIONS

COPYRIGHT 2023 VICTOR STANLEY, LLC. ALL RIGHTS RESERVED PAGE 5 OF 6

REV. 5/2/23 DRAWN V.F.T. 2023-262




VICTOR m STANLEY®

Create a timeless moment.® % ALL DINENSIONS ARE IN INCHES *

FINAL PRODUCT

3-FOOT
SURFACE HOUNT

3-FOOT
IN-GROUND HOUNT

3-Fo0T

/ (RPR2,3 4
STEELSITES™ ALL STEEL CENTER-POST TABLE
SHOWN: GENERAL ASSENBLY INSTRUCTIONS

COPYRIGHT 2023 VICTOR STANLEY, LLC. ALL RIGHTS RESERVED

2103 BRICKHOUSE ROAD, DUNKIRK, ND 20754 USA
1.800.368.2573 (USA + CANADA)

T 301,855.8300 | F 410.257.7579
VICTORSTANLEY. COM

4-FO0T

4-FO0T

PAGE 6 OF 6

REV. 5/2/23 DRAWN V.F.T. 2023-262




	crpr234assemblyinstructions-e pg1
	crpr234assemblyinstructions-e pg2
	crpr234assemblyinstructions-e pg3
	crpr234assemblyinstructions-e pg4
	crpr234assemblyinstructions-e pg5
	crpr234assemblyinstructions-e pg6

